— Row 1 [WS]:

<« Row 2 [RS]:

— Row 3 [WS]:

«— Row 4 [RS]:

— Row 5 [WS]:

«— Row 6 [RS]:

«— Row 8 [RS]:

— Row 9 [WS]:

«— Row 10 [RS]:

— Row 11 [WS]:

«— Row 12 [RS]:

5
2
2]
2]
4]
4]
— Row 7 [WS]: .
6
6
7]
8
8
9

— Row 13 [WS]:

5
— Row 14 [RS]: ..

19

— Row 15 [WS]: . 4

12

— Row 16 [RS]: ..

13

_E

19

20

— Row 17 [WS]: . 4

12

— Row 18 [RS]: ..

12

19

20

— Row 19 [WS]: .

11

— Row 20 [RS]: ..

11

19

20




— Row 21 [WS]:

«— Row 22 [RS]:

— Row 23 [WS]:

«— Row 24 [RS]:

— Row 25 [WS];

< Row 26 [RS]:

— Row 27 [WS]:

< Row 28 [RS]:

— Row 29 [WS]:
«— Row 30 [RS]:
— Row 31 [WS]:
«— Row 32 [RS]:
— Row 33 [WS]:
«— Row 34 [RS]:
— Row 35 [WS]:
«— Row 36 [RS]:
— Row 37 [WSI:
«— Row 38 [RS]:

— Row 39 [WS]:

< Row 40 [RS]:

10

20

18] s || 7 19
B B 6
6] 4 | 6 22
1148 [ 23 5
6] 4 | 5 24
1148 [ 24 4
7] 3 | 4 25
115/ 25 3
7] 2 | 4 26
15|l 26 3
OEE 27

27

HE

28

HE

29 4| 1 .
4 11|28
30 4 | 3 |[43]




— Row 41 [WS]

«— Row 42 [RS]:

— Row 43 [WS]
«— Row 44 [RS]:
— Row 45 [WS]
«— Row 46 [RS]:
— Row 47 [WS]
«— Row 48 [RS]:
— Row 49 [WS]
«— Row 50 [RS]:
— Row 51 [WS]
«— Row 52 [RS]:
— Row 53 [WS]
«— Row 54 [RS]:
— Row 55 [WS]
«— Row 56 [RS]:
— Row 57 [WS]
«— Row 58 [RS]:

— Row 59 [WS]

— Row 60 [RS]: .
(|

RN E [

29

1

2 ||

3

4

30

4
1]

31

3
2
s |42

3

4

1 |[20| |80 [94]

30

» |[i2]

3

4

a4 Ed [

32

2 |[i2]

2

4

31

32

> |l

3

4

33

32

2 |4 33| [l 14]
32 1] 3 4] 2 |l
2 |4 4 |23 | 14
28 5 3]/ 4] 3 |f0]
K 33|l 14]

25

2

23

I = BB =] =] =] =] el 2] o] e o] =] [e]]e]]=]]-




— Row 61 [WS]

«— Row 62 [RS]:

— Row 63 [WS]:

«— Row 64 [RS]:

— Row 65 [WS]:

«— Row 66 [RS]:

— Row 67 [WS]:

«— Row 68 [RS]:

— Row 69 [WS]:

«— Row 70 [RS]:

— Row 71 [WS]:

«— Row 72 [RS]:

— Row 73 [WS]:

SRR RS NS [N [N

4.3 4.52
3 EE BE
A BB BE

3 EBHEEHEBEE RBE
35| 2] 5] 1]5] ]|
.71112.4332
25.2 4.527.
B 5252
9]
34.211242.7
i3 HE BER K

4.2 5.5 2.4




«— Row 74 [RS]:

— Row 75 [WS]:

«— Row 76 [RS]:

— Row 77 [WS]:

< Row 78 [RS]:

— Row 79 [WS]:

«— Row 80 [RS]:

— Row 81 [WS]:

< Row 82 [RS]:

— Row 83 [WS]:

«— Row 84 [RS]:

=5 S (S [~ 8] 5
N

—

m= -~
N =

(o1 - I
2

. 1
..
31l 4
3 e}
. 2
A

2/ - |

1 31.1
- [E JE [E
Kl 2 | 1 |54l

1 I [ .



— Row 85 [WS]:
«— Row 86 [RS]:

— Row 87 [WS]:

«— Row 88 [RS]:

—» Row 89 [WS]:

«— Row 90 [RS]:

— Row 91 [WS]:

« Row 92 [RS]:

— Row 93 [WS];

< Row 94 [RS]:

— Row 95 [WS]:

«— Row 96 [RS]:

—» Row 97 [WS]:

«— Row 98 [RS]:

— Row 99 [WS];

|

[14]| -

3] 2

3] 2

[13]| -

— Row 100 [RS]: ..

— Row 101 [WS]: .

— Row 102 [RS]: .
— Row 103 [WS]: -

~| [l B

2 (EER
1 ]2 3 |4
2 BEEE
o114l 13

2|2|5-11|3|1-4
3 EHEEHE EBEEREE
1224.12211.3
3 EHEEHE BEBEERE
100 BEEE B
d EBEHEEBREHE BEE
I BE B 2
3 B BEARERRE
1B B B =
3 B T BEEHEBREE
o+
mEmEE 2
iTh
1




— Row 104 [RS]: ...

— Row 105 [WS]: .
— Row 106 [RS]: .

Total:

https://www.stitchfiddle.com/en/c/shbOgx-g8grma/written

690

3.

25

2745

6/13/25, 3:14 PM
Page 7 of 7



